
______ fi n e r

______ te a c h e r

______ p ro te c t

______ s i l e n t

______ re s p e c t

______ t ro p h y

______ mome n t

______ mu s i c
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With the VCV pattern (vowel, consonant, vowel),  

a consonant between two vowels sticks with the second vowel.  

negative

saxophone

gravity

Write down the number of syllables and draw a slash between the syllables. 

Hint: Each syllable has one vowel sound. Divide the syllables before consonants.

Read each three syllable word out loud. Finish dividing each word into syllables.
HINT: Divide the syllables before consonants

Syllables

sax

neg

grav
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chosen

quarrel

giggle

between

girl

costume

student

nature

VCV Not VCV

Cut out the name of each word. Read each word out loud.  
Does the word follow the VCV rule?  Paste each word in the correct column.

With the VCV spelling pattern,  

a consonant between two vowels sticks with the second vowel.  

Syllables
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